1) James says that 1595 rounded to the nearest 10 is 1590. Rami says it is
1600 and Neil says it is 1610. Who do you agree with and why?

2) Callum is rounding 5635. Here are his answers.

To the nearest 10 40

To the nearest 100 600

To the nearest 1000 6000

What mistakes has Callum made? What advice would you give him to make sure he doesn't
make the same mistakes again?

1) Damon is talking to Sandy about how old his grandmother is. He says that rounded to the nearest 10,
she is 70 years old. How old could Damon'’s grandmother be? Explain your thinking.

2) Geriis estimating how many people will be coming to the concert. She
says that to the nearest 1000, there will be 15 000 people.

a) Give three possible answers for how many people could be attending.

b) What are the fewest and the greatest numbers of people that could be coming to the concert?

3) When rounded to the nearest 10, 100 and 1000, my number is 5000. What could my number be?




